

③

⑨

$$\Phi(\mathbf{r}) = \int d\mathbf{r}' g(\mathbf{r} - \mathbf{r}') f(\mathbf{r}')$$

$$\hookrightarrow \Phi(\mathbf{r}) = g(\mathbf{r}) f(\mathbf{r})$$

$$\Phi(\mathbf{r}) = \int d\mathbf{r}' d\mathbf{r} e^{-i\mathbf{k} \cdot \mathbf{r}} g(\mathbf{r} - \mathbf{r}') f(\mathbf{r}')$$

$$= \frac{1}{(2\pi)^6} \int d\mathbf{r}' d\mathbf{r} d\mathbf{q} d\mathbf{l} e^{-i\mathbf{k} \cdot \mathbf{r}} g(\mathbf{q}) f(\mathbf{l})$$

$$\cdot e^{i\mathbf{q} \cdot (\mathbf{r} - \mathbf{r}')} e^{i\mathbf{l} \cdot \mathbf{r}'}$$

$$= \frac{1}{(2\pi)^6} \int d\mathbf{r}' d\mathbf{r} d\mathbf{q} d\mathbf{l} e^{i\mathbf{r} \cdot (\mathbf{q} - \mathbf{k})} e^{i\mathbf{r}' \cdot (\mathbf{l} - \mathbf{q})}$$

$$g(\mathbf{q}) f(\mathbf{l})$$

$$= \int d\mathbf{q} d\mathbf{l} \delta(\mathbf{q} - \mathbf{k}) \delta(\mathbf{l} - \mathbf{q}) g(\mathbf{q}) f(\mathbf{l})$$

$$= \int d\mathbf{q} \delta(\mathbf{q} - \mathbf{k}) g(\mathbf{q}) f(\mathbf{q}) = g(\mathbf{k}) f(\mathbf{k})$$

② Jöfnur ③② + ③④

$$\phi^{\text{ext}}(\vec{r}) = \frac{Q}{4\pi\epsilon_0 r} \quad \leftarrow \text{kúlusam-} \\ \text{hverfa}$$

$$\phi^{\text{ext}}(\vec{k}) = \frac{Q}{\epsilon_0 k^2}$$

$$\phi^{\text{ext}}(\vec{k}) = \int d\vec{r} e^{-i\vec{k}\cdot\vec{r}} \frac{Q}{4\pi\epsilon_0 r} \quad \leftarrow u = \cos\theta$$

$$= \frac{2\pi Q}{4\pi\epsilon_0} \int_0^\infty r dr \int_{-1}^1 du e^{-ikru}$$

$$= \frac{Q}{2\epsilon_0} \int_0^\infty r dr \left[\frac{e^{-ikru}}{-ikr} \Big|_{-1}^1 \right]$$

$$= \frac{Q}{\epsilon_0 k} \int_0^\infty dr \sin(kr)$$

böda vid samkriti stadi

$$\mu \geq 0$$

$$\phi_{\mu}^{\text{ext}}(\mathbf{k}) = \frac{Q}{\epsilon_0 k} \int_0^{\infty} dr \sin(kr) e^{-\mu r}$$

$$\mu \rightarrow 0$$

$$= \frac{Q}{\epsilon_0 k} \left[\frac{k}{k^2 + \mu^2} \right]$$

$$= \frac{Q}{\epsilon_0 k^2} = \frac{Q}{\epsilon_0 k^2}$$

$$\phi(\mathbf{r}) = \int \frac{d\mathbf{k}}{(2\pi)^3} e^{i\mathbf{k} \cdot \mathbf{r}} \frac{Q}{\epsilon_0 (k^2 + k_0^2)}$$

$$= \frac{1}{(2\pi)^2} \int_0^{\infty} k^2 dk \int_{-1}^1 du e^{ikru} \frac{Q}{\epsilon_0 (k^2 + k_0^2)}$$

$$= \frac{Q}{4\pi^2 \epsilon_0} \int_0^{\infty} k^2 dk \int_{-1}^1 du \frac{e^{ikru}}{k^2 + k_0^2}$$

$$= \frac{Q}{4\pi^2 \epsilon_0} \int_0^{\infty} \frac{k^2 dk}{k^2 + k_0^2} \left\{ \frac{e^{ikru}}{ikr} \Big|_{-1}^1 \right\}$$

$$= \frac{2Q}{4\pi^2 \epsilon_0 r} \int_0^{\infty} \frac{k dk}{k^2 + k_0^2} \text{Sin}(kr)$$

$$= \frac{2Q}{4\pi^2 \epsilon_0 r} \frac{\pi}{2} e^{-k_0 r}$$

$$= \frac{Q e^{-k_0 r}}{4\pi \epsilon_0 r}$$

③

$$E_r(\omega) = 1 - \frac{\Omega^2}{\omega^2}$$

er ~~me~~ will Stöð

$$\omega^2 = \Omega^2$$
